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 QUANTITATIVE  ABILITIES (TR

1. If a hemisphere is melted and four spheres of equa)
volum made, the radius of cach sphere will be
equal to
zﬂ%’: Th IS B T g ATT & 9R)
MAF AT ST & S URdAE e & B
foreres SRR @2

(A) 1/4"™ of the radius of the hemisphere / ayere} )
AT 1/4

radius of the hemisphere / afarret B

(C)..172 of the radius of the hemisphere / TaTS Fr
Barar 12

(D) 1/6™ of the radius of the hemisphere / MY &y
Brsar & 1/6

2. A man purchases some oranges at the rate of 3 for

40 and the same quantity at 5 for 260, If he sells all

ffie oranges at the rate of 3 Tor 250, find his gain or
loss percent (to the nearest integer). v~

Th eI T 40 3 3 i ex & o T Tliedn & 3
IAT & AT H Fo FaX T 60 F 5 &l & A Tear
YA ae g Ay TS0 A 3 Prex A Awar d, A
Sq W QT O oTH Al fid @ uiaee

(B)

(FRrepea= guites #) < e
(A) 31% loss/gTfey (B) 32% profit/aT
(D) 31% pmﬁW

. (©) 34% loss/@fa

31 inati btained by the girls
| '3 In an examination average marks 0 :
' of a class is 85 and the average marks obtained by the
i ys of the same class is 87. If the girls and boys are

N(@g the ratio 4 : 5, average marks of the whole class
t:{ _. (_appm);.) is closest to

Wmﬁmmuﬂmﬁmﬁﬂsﬂmss
memﬁaﬁﬂ?mmms? ¥
o sefnal AT Bk 4.0 5 0 3 A & A

4, P and Q together can do a job in § days. Q and R can
finish the same job in 60/7 days. P started the work
and worked for 3 davs. Q and R continued for 6 days.
Then the difference of days in which R and I2_can
complete the job is

P 31K Q Faay T ot 6 Forit 3 a Fpdl €1 Q
3t R 38 o Y 60/7 Rt 3 Y e £ P A B
3T R 3 3 Rt aw @i fpam Q HRR. 6
Rt o 1 e 21 R AR P RT3 BT B

T 3 foray et ar 3iax e
(A) 15 M

©)8 (D) 12

5. The value of .
cot 41° - cot 42° - cctgﬂ‘> - cot 44° - cot 45° - cot 46° -
cot 472 cot 4/8° - cot 49° e

1 AT feetr gram?
(A)0 (B) 1
A
© 1 ™
2 )

verage of n numbers is a. The first number is

increased by 2, second one is increased bii' the third
one is increased by 8 and so on./ The average of the
new numbers is

n JEATHT 1 3T a E1 uEel FEAwr F 2 Sis Ry
ST &, Sy Hean 3 4 i fa s1man & 3k dfrrdy
& 3 8 Sis A Smar & AR sw uwi sy <y
st ot agrn e ¥1 2 st an e
TR ?

A ya-1 "

( )a+ 2 (B)a+ 5251
4 'n

(C)a+ 2% -1 (l:))a+ 251 _q
. n

7. 300 grams of ' L
U grams of sugar solution has 40% of sugar in jt,

How much sugar should be o
the solution? added o make j 350% in

JOOW?E e 3 40%

Bréo gms/aray
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(C) 40 gms/amR

8. If x—\/gh\ﬁ:(). -and }r—-ﬁ+~.f:=0=(hen
value of (I_r: —20\5)—(}'3 + 2«.5)
M x-B-2=0 I y-B+f=0a

(D) 10 gms/ara

% = 2042 )= y? +2/2 oot et v o
A1 (B) 3

©o (D)2

9. 1f 60% of A = 30% of B, B = 40% of C and C = x %
of A, then value of x is

I AT 60% =B p130% %, B = CaHT40% 3ix C=
ABTx%E, AT A

(A) 500 (B) 800

\9,«300

@Tﬁe area of an isosceles trapezium is 176 cm - and

the height is 2/11 ™ of the sum of its parallel sides. If
the ratio of the length of the parallel sides is 4 : 7,
then the length of a diagonal (in cm) is

U HAfRaTg WA P A 176 cm & 3R
S SR WA 3T F AT & 2/11 {1 AR
AT 3T P TS T 3T 4 ¢ 7 &, v fapol

¥

(C) 200

fr srars Fr E? (cm )
(A)24 : - ® fi37

1 Water tax is increased by 20% but its consumption is
“'decreased by 20%. Then the increase or decrease in
“The expenditure of the money is

1T Y 3 20% B Y g< AT ST WOw 20%
o g5 &1 ot uer S 3 s 7 el fene g9

'(5)4% lncmlsel qfa‘ - (B) 4% decrease / AT

1 'y=—1«.,tll|en fhe, value of
g AT

3x* - Sxy +3v7is

aa & fp _\-=M3¢h el
W13 =411 *

3x" = Sxy +3y BT A&

(A) 1771 (B) 1177

(©) 1717 (D) 1171

3. A and B have their monthly incomes in the ratio &
5, while their monthly expenditures are in the ratio 5
: 3. If they have saved ¥12,000 and ¥10,000 monthly
respectively, then the difference in their monthly
incomes is

A 3 B & e 3 § 5 & 3iguT A & Sl
SeTeRT AR c 5 < 3 v gl A 1 AR
gaRT: 212,000 31 710,000 T FTTER aT AT &,
ar s anflres 3 3 3ia) fordar &7

(A) 52,000 (B) T46.000

\(yf 42,000

14. There would be a 10% loss, if rice is sold at ?'5_4_per
kg. To earn a profit of 20%, the price of rice per kg
will be =

aﬁiﬁgﬁaﬂswﬁﬁﬂnaﬁraﬁamm%,a’r
10% oY @Ifey greftl 20% T ST Ut ey & fae

(C) 344,000

Trael H1 Ui Tpam Hera frge gei?
(A) 65 B T2
(C) 263 (D) 270

15. If 7gn 29+ 3cos~9 =4, then the value of tan 0 is (0
is acute) ‘ :
IR 7sin 9+ 3cos"@=4,7 tan ¢ F AT AT B2
0 =BT &I
@ 1 T

(D)1

16. AD is perpendicular to the internal bisector of £ :
ﬁ&‘ﬁ'ﬁl - RE is drawn through D and paralle]
70 BC to meet AC at E. If the length of AC is 12 cm

- then the length of AE (in cm.) is
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AD A ABC & £ ABC & Higl(a TRHISIE o & &)
DE &I D & @& 3R BC & WA 9/ o71am &
e AC, E WX fote 9| afg AC & s 12 em

&, A AE &y oia (om 3) R 22
(A)4 (B) 8
<3 (D)6

17. The @M&Aﬁ_ﬂg is G. The area of A ABC is
60 em=. The area of A GBC is

A ABC &l &gl G ¥1 A ABC &T 8151 60 o 221

A GBC &7 3T%el fehetal g1
(A) 40 em? (B2 ey
(©)30 op* (D) 10 g

18. A man starts from a place P and reaches the place Q
in 7 hours,_He travels 1/4 ™ of the distance at 10
km/hout and the remaining distance at 12 km/hour.
The distance, between P and Q is

T eIl T T P A dei I e & 3R
T Q WX 7 ©E 3 g ST 1 g6 1/4 g 10 km
ufey €2 3 a atan § AR AT Y 12 km ufy G H
agatardl PR Q& dragdr gt

(}yﬁo km (B) 90 km

(C) 70 km (D) 72 km

R~ . 8
X wmﬂ’ﬁe/ simple interest on a sum of maney 15 2% of the

mber of years is numerically half the

sum. If the qu
er_annum, then the rate percent per

. rie percent per annl
annuny
mmﬁmmﬂwmmuﬁ‘fﬂ

8
— gl
25 ¥

L jve 20% discount on a toy,

' If a shopkeeper wants to give 20

‘hé has to sell it for !300.5'55""‘1-56 =T at 2405, then
is gain percentis .

mwwwﬁzo%ﬁwmm
% 3 33 ag 1300 3 e udam AR aF 3H 2405
ﬁaﬂmj,mgaﬁmwuﬁammﬁm

(A) 6% (B) 4%

fojﬁ

21. A man sells an article at 5% above its cost price. If
he had bought it at 5% less than what he had paid for

it and sold it at ?g_rie_g.s. he would have gained 10%.
The cost price of the article is e
e e el awg @ e Anrd Hed A 5%
e W dar ¥ AR 3Ea 3a% fo S
Wfﬁmﬁs%mwmmmn

(D) 5%

a3 O T T, A 34 10% 7 19 QYerT| 2R T
ARTT HE T &7
(A) 3100 (B) 300
3400 D). 2200
© (D22

The radii of two solid iron_spheres are | cm and 6
cm respectively. A hollow sphere is made by melting
the two spheres, Jf the external radius of the hollow

sphere is 9 cm, then its thickness (in cm) is },
21 X ot & et &1 FBear FwAv: 1 em 3R 6

em ¥| At aiB @Y AR Th Wl INelh
AT SaT ¥ 3 @ dies & a Fear 9
cm ¥, @Y 2@ AerS (em ) favea &2

(A) 0.5 (B) 1.5

© ) (D)2
23. The value 0
67 x0.67x067)—(0.33x0.33x033)
(067 x0.67)+(0.67%x033)~(0.33x0.33)
FTAAT
(A) 34

o

24. A and B can do a given piece of work in § days, B~
and C can do the same work in 12 and A, B, C
complete it in 6 days. Number of days required, to
finish the work by A and C is

(B) 11

(D) 1.1
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Asﬁrﬁﬁqmﬁmmaﬂsmﬁmmﬁ
B 3iT C = T Y 12 &t & Y Toha ¥ 3tk A,
B. C 38 6 o=t 3 qu o warat 1 A 3% C grr 5w

BIH B QU T 3 raay Ry wrdiop
(A) 16 (B) 12
(C) 24

el

- 1 1
If a*":b"'—zc"'fl,whereaibaécqéo. then
b c a

the value of a*pc?is
1 1 1

afg a+g=b+z=c+;%ﬁmﬁa¢b¢6#0,

Wl FEAEE

(A)-1

25

(B) abc

1 (D)0

26. Two blends of a commodity costing I35-and T40-per
: kg respectively are mixed in the ratio 2 : 3/by
\fveight. If one—fifth of the mixture is sold at 246 per
kg and the remaining at the rate of ¥55 per kg, the
profit percent is

fredt avg & I B35 AR 40 oY fham H
0T arel & fAEl Y a5 & FFER 2: 3 F
Heuret # TR v sar &1 afy 1/5 frsror 46
uia . 3R AW 55 Uiy fram #r ew A

e g, ar ey ufaeraar frae 32
M (B) 20
(C) 30 (D) 50

27. If tan © — cot & = 0 and @ is positive acute angle, then
tan(B+15)is Lo @ g to 6

tan (6 —15°)

22 tan 0 — cot 6 = 0, 3T 6 UATHSD =g PIUTE,

the value of

tan (8+15°)

e e MR T 27

m(ﬂ—lS")Eﬁrm e
“(A) 1 (B) 1

& 3
“‘:T-;‘??t'(‘c) V3 | " .

28, T an office, 40% of the staff is female, 70% of the

female staff and 50% of the male stafl are marricd-
The percentage of the unmarried staff in the oftice 1s

el wrate & w7 400 afzard & 70%
mmmsoeawmm%|

T 3 HAafRd e & ufaerd o &2
(A) 60 /(,9742
(C) 64 (D) 54

/2,971\ sum of money placed at compound interest

doubles itself in 5 years. It will amount to eight times
B = A .
itself at the same rate of interest in

&) sarst F FA & W ag Rae aut & 8 T
Seeit?

(A) 15 years/ay (B) 12 years/aq

(©) 10 years/ad (D) 20 )’carsfai'if

30. If tan A = n tan B and sin A = m sin B, then the
value of cos” A is

afe tan A =n tan B 3R sin A = m sin B, @6 cos= A
FTHA &

(A) m*-1 (B) ;s
—y—— —_
n“+1 n*+1

©) m*-1 (D) m? sy
S o Ol
L n-—1

31. A and B can do a piece of work in 30 and 36d
; : ays
respectwe_l}(./]' hey began the work‘io_g:ther but ),,z\
leaves after some days and B finished the remainfrE
work in 25 dax_g.. After how many days did A leave?

A 3R BTS &R &Y warar 30 31X 36 Ry 3 g
TEd B aaﬁwmmm T E
ﬁaggﬁsﬁ?fmaf&ma\gém%aﬂrﬂmrm
aﬁzsﬁ?ﬁﬁl{nm%m;‘rﬁmaﬁa

s g By

(A) 6 days/ o (B) 11 days / foy

(©) 10 days / fomy ) 5 days / foy

32. fx=asin@-bcosp,y=
; sY=acosQ +bsj
which of the following is true? ol

?If&x=asine-bcos9.y=acose+bsinG@:.a}
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RreffEa # d wla @ ad &
® 2 2

(A) 2 -.‘-3'2 =a® +b?
-_TT__T:]'
a- b

©) 2 4y? a2 32 by .2 _2

33. Two places P and Q are 162 km apart. A train leaves
P for Q and simultaneously another train leaves Q
@ _for P. They meet at the end of 6 hours. If the former
* train travels 8 km/hour faster than the other, then
- speed of train from Q.is __.

" &1 T P AR Q U @y F 162 km oy gt W
T TSI P J Q & forw yeera et & 3k 3y 7
TEIA B QI P F v TRma s &6 5 d
FHA 3 F At fEat e 1 i user arel
I T Y8 kmfhour?laﬂﬂ?ﬁ%,ﬁ’f()ﬂ'@

(A) \—9)9/% km/hour

(D)

1
8 = km/hour

©

= 12 —:-km!hour 10 %kmfhour

Directions :

The following graph shows production (in
thousands) of two types (P and Q) of vehicles by a
factory over the years 2009 to 2014. Study the graph

and answer five questions:

3o : RrafafEg ars 7 v haed grray 2009
¥ 2014 G e & &Y YBR (P TF Q) ¥ e
@ (FR 3) gATar 4T &1 AE F HeGqA hifSe

i Y e 91w ot vt & saT IS :

. —X=Typs P/ TP
- —a—TypeQ/TERQ
£t 200 215 275

onto (€041 ) 2012 2013 2014
Years/ad ——*

The ratio of total production of Type P vehicles to
total production of Type Q vehicles over the years is

et & 1B P awell & gol scded IR TETQ,
' 6

34,

At & greT SCUTG T JFUTd T 82

(A)5:8 ﬂs:m

(C) 41 : 48 (D)8:5

35. The total production of Type P vehicles in the vears
2009 and 2011 is what percent of total production of
Type Q velﬁg:]esﬂﬁ_(_)_l_ﬂ_ and 20147
ay 2009 3R 2011 3 er3q P argal & Pl Seuree

2010 3 2014 3 218y Q F Fol FEUIG BT fehetall

ufaere ar?
_)Bﬁo

(A) 75
(C) 81.25 (D) 69.25

36. In how many of the given years, was the production
of Type P vehicles of the company more than the
average production of this type vehicles in the given

e
years? -
fw a1e Rraer aut & duel @ ey P argAr @
Scure U a1v guf 3 33 ey & aat & 3itaa
SouTee | e s ar?

\ (A)5 (B)2

‘94” |
37. The production of Type Q vehicles in 2010 was
approximately what percéit of Type P vehicles in

20147
2010 3Y 213U Q aTgait ol 3cureet 2014 H erzu P &

IcUTE &l fehaaT ufaara ar?
(A) 75 (B) 60

'/pe)ﬁs

38. Approximate percentage decrease in production of
Type Q vehicles from 2010 to 2011 js

a 2010 ¥ 2011 FF 23T Q T/t & Seurea 3

(D)4

(D) 45.5

HHTA: fehaat wfaerd waft 3ms?
@A) 167 (B) 10.1
(C) 14.3 (D) 12.5

39. A right prism has a triangular base whose sides are
13 ¢m, 20 e¢m and 21 cm. If the altitude of the prism
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is 9 cm, then its volume is

we wid FOSH @1 IR Bgemer & S semd
13 cm, 20 em AR 21 em ) TR Wt ar oM§ ooy

9 cm &, Al 3HET HTAAA Fhet=T Brom?
(A) 1413 o’ B) 1314 3
(C) 1134 cms (D) 1143 cm3

40. Given that the ratio of altitudes of two triangles is 4 :
5, ratio of their areas is 3 : 2. The ratio of their

corresponding bases is

A= FoF €Y 97t ot ofid o 42 5 &, 3% a6
, T 7T 3 : 2 &1 367 eeul 3MUR & Heulcd
AT m?

b (A)8:35 (B)15:8
(C)5:8 \9)/8':!5

41. The marked price of a tape recorder is ¥ 12,600. A
festival discount of 5% is allowed on it. Further for
cash payment, a second discount of 2% is given. The
cash payment, is to be made for bm JL_IS

e 20 fepisy 1 3ifera e 212,600 &) 30 W
5% &1 R g & A 1 3Hd AARSD e
SPTAI TR W, 2% FI g@dl g & A & 39

e & AT RecT e AT el el am?
(WA11,730.60 (B) 311,703.60
(€) %11,073.60 (D) T11,370.60
42, .
If a———=5, then the wvalue of
a—3
3 1 ,
o A is
(a-3°
1 K
A = - e
| g a = sar (a-3) (a__3)3asra:na
T B
(A)7 (B) 2
©s (D) 14

43. Let x be the smallest number, which when added to
2000 makes the resulting number divisible by 12, 16,
. 18 and 21. The sum of the digits of x is

AT o 6 x v Fgme wwar B s 2000 @
ST ST, & aRome dear 12, 16, 18 3k 21 A
Wam%uxmwmmg

¥ L

©)>5

(B) 6
(D) 4

44. A sum of money is paid back in two annual
instalments of 17,640 cach, allowing 5% compound
interest compounded annually. The sum borrowed
was

T U it gehgiE BT X F 5% THEE
TS T UTd 217,640 T & ariies febeall 3 goprs
ST 1 SUR off a8 Uiy of?

A) 332,400 B) 32,000
) ) 232,000,

(C) 332,200 (D) <32,800

45. 6* +7% 487 +9° +10°

Ni+a8 =423

(A) 366

is equal to / AT &

(B) 355

(C) 305 (D) 330

46. A telegraph post is bent at a point above the ground
due to storm, _Jts top just touches the ground at a

distance of 10 3m from its foot and makes an

angle of 30° with the horizontal. Then height (in
metres) of the telegraph poslisy\

T SAITE &1 THT Y & HROT HfH & FuT U6

foig u g oraT 1 sESHT MY sEH UG H 10 f3m |

g0 W HA B FF A @ R IR AT d
30° & USH BIOT T I &) CoARms & W Fr
xS (T ) fopa=r 82

(B) 25

(C) 20 (D) 24

47- The unit digit in the product (2467)'>* x (341)"2is
oG (2467)1° x(341)7:ﬁ2ﬁ3-'|’€31'€ﬁ€£?n%7
(A) 9 /
(D)7
Test Form No. 1111421

AL

\



48. —2y):(x+3y) =5:
- Ox Y)-(?-X+J})—5-6=then one of the

value of [3“{;1—3\{; ; :

g Gx—2y): (2x+3y)=5: 6. ar E'z.[;-l—if\_

1S

3

|

\Vx-3fy )
& U AT T 2?
A= (B) 25
© 1 ) 1
e 8 e

If O is the cir of a ;rlan ABC_lyi

It : I_.Qr;_lggm gle . lyin
inside the tijangle, then 2 OBC + £ BAC is equa)l( tog
af& O fssr ABC @ uftehg & St fieget & 3t
TS &, Al 2 OBC + 2 BAC s SR gmm?

(A) 60° (B) 90°
(©) 110° (D) 120°
50._}f 90,men can do a certain job in 16 days, working
. u , then the part of that work which can be
ompleted by 70 men in 24 days, working 8
hours/day is i ;

qﬁ%ina{huﬁﬁalzzitmmﬁﬁﬁm

T 16 et 3 QU A FH &, At 70 efAt gR 8
i aRIfRE T X 24 Ra o 37 @ &l e

e G R 51T Hh §7
A 2 (B) 5
] 8
L © ®) 1

" 51. Base of a right pyramid is a square of side 10 cmn. If
g the height o.f the pyramid is 12 cm, then its_total

A *%ﬂmlo cm gGITﬂ-TI'H"‘f?Mﬁ'
S mgzﬁri?n? 12 cm ¥, @ T 7B GAG

(B) 400 cm =

Py
)

(D) 260 cm?

] Mbmktls of v:raterare removed from a cubical

ERHERRS LRt

8

shaped water tank completely filled with water, 1/3
of the tank remains filled with water. The length of
each side of the tank is 1.2 m. Assuming that all
buckets are of the same measure, then the volume (in
litres) of water contained by each bucket is

T W G e HY GO UT & B 8o & At 64
qTeEY Ul e foram o &, ) 1/3 & ure &
T T &1 & fr gl ofen A o 1.2 m ¥
T TR gt arfecar @E A0 f L a e

a1 3 Trelt 2T TR (Five 3) Rreran gom?
(A) 12 (B) 16
(C) 18 (D) 15

5 AN
330F x +y +2° =xy+vz+zx, then the value of

3+ 7};4-‘-514

a 22 R = iS
Sx'y +7y 3z x

RIS ar

X T Sy = 0+ VT I,

3xt +7yt+52°

S T T
Sy +T7vzT+3°x

(A)-1 (B) 2

1 (D)0

54. The perimeter of a rhombus is 60 cm and one of its
diagonal is 24 cm. The area of the thombusis =

u gAe 1 U@ 60 om § 3R ZHH T

forof 24 cm &) FATGHS &I & QN
(A) 108 sq.cm (B)/?.IG sq.cm

(C) 432 sq.cm (D) 206 sq.cm

55, Three Science classes A, B and C take a Life Science
_test. The average score of class A is 83. The average
score of class B is 76. The average score of class C is

85. The average score of class A and B is 79 and

average score of class B and T is 81. Then the

average score of classes A, B and C is

A frea & et A, B 3R C Shaa-faee &
e & &1 @etr A & 3T FH B3 T FWTB &
mmv&%umcﬁaﬁmﬂmssﬁm,«
mt5$maﬁ793ﬂTiﬁﬂ‘lTBaﬂTC$3ﬂm
i 81 %1 T A, B AR C & 37 31 fohaal €2
(B) 80.5

Tést Form No. 1111421
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(C) 81.5 (D) 81

56. If (xX° —}';):(x1+1}'+y:)=5 iland (F—y): (x
—y)=T7: |, then the ratio 2x : 3y equals
A (K -y (T +y)=5:1 IR -y)
De—y)=7: 1,3 3 2x : 3y TR aat €2

(A)3:2 (B)4:1

(©)2:3 (D)4:3

57. A sum of ¥7,930 is divided into 3 parts and given on
loan at 5% simple interest to A, B and C for 2, 3 and
4 years respectively. If the amounts of all three are
equal after their respective periods of loan, then the
A received a loan of

%7,930 T T 3 H11T 3 Rysnfora i s & 3R A,
B Ud C @ A 2, 3 Ud 4 anf & BT 5% &
HIUROT S4TST UT 0T & &7 3 & S &1 3fe et

at A 2 Toraey TUT o7 0T Torr Ur?
(A) 32,760 (B) 23,050
(C) 72,800 (D) 22,750

58. Let x be the least number, which when divided by 3,
.6, 7 and_8 leaves a remainder 3 in each case but

when divi%g}i by 9 leaves no remainder. The sum of
digits of x is

A A x g e B 5, 6,7 AN 8 W
RuRT o W TS #Fd # 3 AT
Tl & Wy 9 ¥ fafaa R 9@ W 95
Qmaﬁmlxa?ﬁiﬁ?ﬂww%?

(A) 24 (B) 21

()22 (D) 18

's9. In trapezium ABCD, AB || CD and AB = 2CD. Its

diagonals intersect at O, If the area of A AOB =84 |

e cm;,then the area of A COD is equal to
. upEAAT ABCD H AB | CD & 3R AB =2CD ¥
T g o O TR T GEY 1 H1EA € AT A AOB

zs: e 84 cm? 2 &t A COD T A freds

(B)72 cn”

-

(C)26 (D) 21 em”

- km in
n at the rate of I KI

f5km

60. A boat moves downstrear
an hour:

l minutes and upstream at the rate ©
5] 0
- . W otill waler:
What is the speed of the boat in the still

udic
e ettt 7 Lo km it & B0 )
ﬁm%ﬁﬁlsﬁmskmzﬁmﬁﬂﬂﬂ@
W%Jﬁmaﬁamzﬁmﬁfzﬁaﬁr@ﬁ. .
@, 1 1 (B)Skm/hour!Sme
3 = kmhour /3 -
km/ee |
o 1 1 (D)4kmf’l1our/4km/2ﬁ,"
6= km/hour /6 —

km/ge
. ircle.
61. Quadrilateral ABCD is circumscribed about @ CITe’®

If the lengths of AB, BC, CD are 7 cm. 8'5'1?3Aa?:
9.2 cm respectively, then the length (in cm)ot UA L2~

W@*WWW(\BCDﬁTgﬁTgl afs
AB, BC, CD &1 dars &aer: 7 cm, 2.5 cm AT
cm &, 2 DA & siaré (em ) Reaelr enfr?

(A) 7.2 (B) 16.2

o7

62. IfA:B=2:3andB:C=3:7,then A+B:B+C
:C+Ais =
afA:B=2:33RB:C=3:7,@1A+B:B+C

:C+ AT gm?

(D) 10.7

(A)4:10:9 (B)5:8:9
@50 ®4:8:9
)8

63. If5cos0 + 12sin @ = l§,0°<9<9oo
value of sin 9 is

If& 5 cosp + 12 sing =

> then the

13,0°<0 < 90°, 3 in g

T A T 52
Ll ®)
B g
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S ® 12 3t @ A “;ﬁa;mmamu%%
13 IRE o 25% Q| O~ ”
64. There is a wooden sphere of radius 6 J3cm. The AFarel W“ﬁqm nt
f:éf::;eiw largest possible cube cut out from (A) 12/4% (B) 2=
6 /3 om 5T &7 g ot was aiteres &1 e & (oo (D) 11.1%
HIC B FAT A ATl Jead WH 0 & gE sents-gFd the ratio of
PR EPJT?E"II? 69. Ina school the?; wa)re Isnsd‘lgsitrllls ey After few
3 | " the number of the boys a — bovs left; as
e g (B) 464 3 cm? -" days, 30 girls joing the school but fe“;,bo ;:7 26;
I' a resuli the ratio of the bo)?t ahnd gll;lsol iesca —_—
(©) 462 o2 (D) 646 2 The number of boys who left the schoolls
B wﬁamirﬁlmﬁmaﬁa}smaﬁ_iﬁ
65. A 1 ' g 4 2 3 21 feAT e
i x=a‘+ a-j,y =al~p I then wvalue of agﬁ'ﬁdi et JET BT 4 §ﬁ§
4_22 g o 30 sfedl 3 39 R 3w o @, 36
(" =2y =D +(y ~ Xy - ke
af X 3 11 asaﬁérﬁmmmgﬁmuﬁmmmﬂﬂa‘ﬂﬁ
. x=al+a 5'3333_{3'?& H‘r. Fsforat mw?:ﬁﬁmlwmﬁm
=Py =D+ -y TaE s i wrear Reaa &2
(A) 16 (B) 12 (A) 84 BJ 76
(C) 13 (D) 14 © 74 (D) 86
i ]:'3 +ab3 j abE(alz_b:l)’= find ther value Of1 70, 1 sin A+ sin? A = 1, then the value of cos? A +
tAis A
3 2 3 cos
gfc a+b=1,dr a’+b’—ab—(@* bY@ ) A
A A v “ﬁ;‘"”‘* sin A= LAl cos?A+ ot A T
AT
(A) 2 (B) 1
W, 2 ® 1
©-1 )0 3 3
©2 D
§7. Ram sold two horses at the same price. In flme ht; oA
. pets a profit of 10% and in the other he gets a loss of | 71, [p A ABC, Y
e | S oA et a0 Lo 0 =
£ waaﬁgmaﬁmmaﬂlwﬁmlm AABCﬁ,LBAC:goomAngM
; mgmm@tﬁlo%iﬁﬂﬁgglmﬂﬁ 3m3nTCD“' ’LBC%IITTEBD?-
o - Sem A AD b
s (A) 6 om @
(A no loss or profit / A @fa, & A i 2 f3cem
EREG 0 cm
(B) 2% loss/ &fd (D) 3.5 cm
R D) 1% profit / AT 72. The av
9 .I% loss‘!g,ﬂﬁ il 4 mont:;ag:;%: :g;o Students of 5 class is 14 car
SREALINT - P i, ) 158i0 2 S
68. Anticles are marked rice which gives class the average becomer.:; Tgs DeW StudentsTin he

uces to 124 % The discount percent is

atap a profit of
‘After allowing a certain discount E]{e profit

youngest one of the fi Years 9 Months,

The

Ve NeW STidents Teg o
months gld, The Sludents 5 g
students jg average age of the rr:rmaininyge':;rs 4,
New

10
fb‘ \
StForm No. 1111424



T RIT & 30 BT Y 3 3y 14 A€ 4 A1 R
T 8T A S AT BT F v 3 F A Awa 13
ay 9 H1E &l AT & Ui AU St F 9 ST o
9 a¥ 11 A1E & ¢ AV 4 v orEr A e 3y
R &2

(A) 13 years 6 months / 13 9§ 6 ATE

(B) 12 years 4 months / 1299 4 HTE

(C) 10 years 4 months / 10 a5 4 #TR

(D) 11 years 2 months / 11 9§ 2 A&
73. 60 k gan alloy A is mixed with 100 kg of alloy B.

If alloy A has lead and tin in the rafio 3:2 and alloy B
has pig-and copper in the ratio 1:4, the amount of tin

in th&hewatlay is Sl "
)jﬂ’ﬁ?;;@AaﬁlOOkgﬁw@Bﬁm
g fear s 1 9 g A & @ 3R

Rt 3:2 % 31egurer A g AN Brararg B 3 o7 MR
Sitar 1:4 & 3regrd 3 €, &t % g 3 foer 1
T Bl

(A) 80 kg

B 44 kg

(C) 53 kg (D) 24 kg

74. The value of

(cosec a— sin a) (seca—cosa)(tana+ cot a)

T A FTE
(A)2 (B) 6
©1 i)+

i i 6.5 m wide and 4
rtion of a ditch 48 m lon'g, 1
: = Thedg: that can be filled with ston€s anfi e;iu-th

4 4 vation of a tunnel, cylindrical

ailable during exca :
?: shape, of diameter 4 m and length 56 m is

J
O 4g mawd, 165 o <HEY 39 4 m Tl TS & R

‘ WSGmHﬁW@Tﬁ
mm@:ﬁmmm%‘?

11

© 2, oo O L pyey/air?
9 P /
76. The value of
g
4_ i ,
g 1.4._'____—- l(ﬁr
" ' . 'jé‘-/"
Al il
Fb— q
T AT T 87 )
A 1 @ 1
L —
S o
© 1 0y 1
o 16

i / rts
circular con€ into two E:se
Jane is paral[el to the is.
height of the cone

77. A plane divides a right
of equal volume. If the p
then the ratio, in which the
divided, is :
o At oid g Q@ﬁmmﬂﬂmﬁaﬂ'a”

ﬁﬁﬁﬁﬁm%mﬁaﬂma‘mﬁﬁ
i A1 s a fe srael 3 RS R
STTaet?

78. The interior angle of a regular polygon exceeds _its
exterior angle by 108° . The number of sides of the

polygon is i

U WA TEI Bl IeT-PIOT SHE AT HIOT H 1082,

37fRrep & | ST ohY ST hr T fehct=t &7
(A) 16 (B) 12

i
79. A manufacturer fixes his selling price at 339 -
er

the cost of production. If cost of pmd“‘:tio_rl_g?e-s-u

by 12% and manufacturer raises his selling price by

(©) 14

10%, his percentage profit is
T 3cuTee | ¥ 33%
T 72 fTa srar &) oy
g ST & 3R aferar sy

mmlz%
R oty 10% agr

(est
SILForm No. 1111421



C) 35% D 5
( ( )36 5

9

by_361 gives a remainder
ris divided by 19, the

forelt & @y oy 361 ¥ RIS R sre, 2y
QW“TFHT%IH%WWm}WQﬁm@a
ﬁsmﬁu,mqmﬁmmm

(A) 8 (B) 1

%

80. A number when divided
47. If the same numbe
remainder obtained is

(O3 D)9

81. A cylinder with base radjus g cm and height 2 ¢m s
melted to form a con

_ € of height 6 cm. The radius of
the cone will be

Scmmﬁmﬁhzcm%aémﬁﬁﬁmam

mh?@mﬁ%@mm%l A T
[EEnIE oy

(A)5cm (B) 8 cm

(C) 6 cm (D)4em

82. The greatest number among 350,440, 530
is

330 440 530347 603 TRy T e Fey Ay 22

and 530

(A) 6-0 (B) 530
(©) 350 (D) 440
The H.C.F. and L.C.M. of two numbers are 21 and

83. ‘
- 84 respectively. If the ratio of the two numbers is
1:4, then the larger of the two numbers is

2, weasit ar Fpde FAOAds AR e
WAE haer: 21 3R 84 €| Af & dEaAnd e

I 1A %, oy e deanyit 3 ad e g
)84 ! (B) 108

e

(D) 12

s 'l‘haﬁuillencal values of the volume and the area of
the lateral surface of a right circular cone are equal.

I the height
’ s vl

U od g AF & qAT g5 ¥ raaa sk
EVATE D HEAHD A FAT &) ATy oy hy

S h R P o 8, hi+iama%
I

(A) 1 (B) 1
9 3
© 9 D) 3
1 1

85. If a man walks at the rate of 5 km/hour, he misses a
train by 7 minutes. However if he walks at the rate of
6 km/hour, he reaches the station 5 minutes before

the arrival of the train. The distance covered by him
to reach the station is

AT T <l 5 Real ufy Hey Y Y A T &,
ol SHST TN 7 e ved g A ¥ 9 ag 6
ﬁﬁ.?ﬁ.uf?rdaaﬁrmﬁﬁﬂﬂm%,a‘fa?ﬂﬁaﬁ
AT T 4 5 e Ued FUT U S B
T TN & 0 =Y Rierel gt ey 0

(A) 6 km (B) 4 km

(C) 7km (D) 6.25 km

86. Three glasses of equal volume contains acid mixed
with water. The ratio of acid and water are 23,384
and 4 : 5 respectively. Contents of these glasses are

poured in a large vessel. The ratio of acid and water
in the large vessel is :

AT AT arer ol rema) 3 o=l & @y
AT 31t 1 3ot 3R ol v svegarer s 2
3,3:43ﬂr4:5%|saﬁmm$mﬂwa§
aﬁaﬁmm%mﬁaﬁaﬁmsﬂ?mtﬁr
HUT T Aomr?

(A) 417 : 564 (B) 411 : 540

(C) 407 : 560 (D) 401 : 544

87. Pipe A can fill an empty tank in 6 hours and pipe B

in 8 hours. If both the pipes are opened and after 2
hours pipe A’is closed, how much time B will take to
fill the Temaining tank?

q@AW@%6ﬁ'&ﬁmm%}m
T B 8 GC 3 9w 1 3 2t vy wamry
la’ramr“aﬂndtmmwamﬁmm.a‘r
I ED HA H B e wa wom
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A
( )7 %hours/a't

l(c)2 -g—hoursld%:

(B
.){ -;— hours/ g

D
L )2 %hoursld‘}f

88. Tt;le diameter of ea<':h wheel of a car is 70 cm. If each
wheel rotates 400 times ner minute, then the speed of

the car (in km/hr) is 1 Take 7::%2.
)

T PR 6 GRE R w S 70 om ¥ A
Tl afear Ui fere 400 R o & d R A

2

o e kem/ S 3 @ @t G 1= 2,
ki 7

 (A)0.528 (B)5.28

v

B (C) 528 D) 52.8

- 89. A, B and C can do a work separately in 16, 32 and
48 days respectively. They started the work together

* but B leaving off 8 days and C six days before the
F wmplew what Time is the work
- finished? 7
L A, B3I C U@ @ B I3 A 16, 32
 3iK 48 Rt 3F @ T §1 RIS i AR
aﬂﬁ%ﬁ'ﬁgBmﬁm@#@f%ﬁaﬂﬁﬁTc
e T U T O a1, e Rt o

A) 9 days/ f&=7 (B) 10 days/ &=
' (C) 14 days/ & M2 days/ &=

2 i i ‘lateral. AB and DC when
D is a cyclic quadrilateral. n n

uced me‘g at P,ifPA=8 cmD PB = 6 cm, PC

ngth (i is .

%] AB 3 DC Fid 5

& crap g AR PA s E PO
"PC:Mmg,a’rPDzﬁrFim?W?’;'

(B) 8cm

(D) 6 cm

3t fwo digits, the digit
* place and

2 st 1 v s 3 g & @ A
mﬁmmmaw%mﬁﬁ@
3fe v 2ty 9 @ 2 erera e, el 3 39 ET
1/6 % auraR | o TEAT a1 87

(A) 26 (B) 23

© 25 (D) 24

11 o and
92. A and B are centres of two circles of radllll_,‘:m

il 7'11[ 1o
6 cm, respectively. PQ is a direct common tange -
e wi
the circles. If AR = 13 cm, then length OF_B_Q_

be
A 3T B L 11cm3-ﬁ3:6cmEﬁT1>=|"~37*'1Ta‘r“:raT

ﬁ?mﬁlpowﬁmﬁgwﬁmg'
IR ZBS13em, Ay PQ dr et @

(A) 13 cm (B) 17 cm

(C) 8.5cm (D) 12cem

93. In trianglé ABC, DE || BC where D is a point on AB -
and E is a point on AC. DE divides the area of A
ABC into two equal parts. Then DB ~AB is equal to

we 97T ABC # DE || BC ¥ f5rai D, AB W T
fig & 31 E, AC W t& g ¥I DE A ABC &
ST @ &) T Mt 3 Renfaa X & d DB
: AB foFers STeR §?

(A) 2-1):-2
(€) f2:(J2+D)

®) J2:(2-D
@) (f2+1):42

.._.
i
-

¥ f tan9=-1— the value of sec @ - tan @
If secO B - 10 is

afE secf—tan§ = —=%. il sec 6 - tan O T A}



dasr: 10 km/hour. 20 km/hour, 30 km/hour, 60

'.,kmlhour_iﬁrﬂﬁfﬁmﬂﬂ?ﬁﬁlgﬁ{ﬁﬂTm

3T AT afa w2
{A) 40 km/hour (B) 20 km/hour
(©) 30 km/hour - (D) 60 km/hour

96, The average of five consecutive positive integers is
_n If the next two integers are also included, the
average of all these integers w

Ui SARTT YATcHS Quiteet &1 3w n &) afy
3T &Y QUi 3 enfdrer & fow oI, Y =7 wahr
qoiient @t 3t & gem?

(A) increase by 1.5/ 1.5 g2 TQam|
_,...._@), it:crease by 1/ 1 92 S|
A (C) increase by 2/ 2 g STUIM|

(D) ' remains the same / ScaT & i

'A dédler fixed the price of an article 40% above the
cost of production. While selling 1t he allows a
discount of 20% and makes a profit of ¥ 48. The cost
of productio-I—l-(_iﬁ ) of the article is

ua R & T g Y AT Sodee deTd |
40% 31T W AR &l 3 I9d AT I 20%
P e &7 & 31 3 T48 T AH AT ¢l 5 IH]
&Y Seurea T (39) fvaeh 82

a0 (B) 360

o
98. ‘AB and CD are two parallel chords of a circle of
‘lengths 10 cm and 4 cm respectively. If the chords-

‘are on the same side of the centre and the distance
between them is 3 cm, then the diameter of the circle

B
97.

173
[y

(D) 420

e

Zarer: 10 om 31 4.cm B TS A T AT AB N
CD 2 i S §1 e el st & B 0w &
Wﬁﬁhﬁ'ﬁ?ﬂﬂqﬂ? em ¥, &Y g T T

99.

If 3(‘13 +be .;.,:3) =(a+b+c)2~ then the relation
between a, b and ¢ is
afg 3(al+.b: +c3)=(a+b+c):%. ara bR c

(A)azb#c (Bya=b=c
(C)atb=c (Dya=b#c
100. e
AEY (¢ F o
i t___,p; ?‘ i) =2 ar
p’q~ ) p7q,

then the value of a + b, where p and q are different

positive primes, is

1 1

B ANT 8 Ny
% P 2 P
aﬁ!__r_p_ (E:J - -:qé} =p' g arba
P 4 P q )

AT = & owd p IR q R aacas
ST 2

(A) 0 _®
02 (D) -1
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Directions : Each question or incomplete statement
is followed by four alternative suggested answers or
completions. In each case, you are required to select
the one that correctly answers the question or
completes the statement and blacken appropriate
circle A, B, C or D by Black/Blue Ball-Point Pen
against the question concerned in the Answer-Sheet.
The following example illustrates the manner in
which the questions are required to be answered.
Example :
Question No. ‘Q* _
Out of the four words given below, three are alike in
some way and one is different. Find the ODD word

(A) Girl

(B) Boy

(C) Woman

(D) Chair
Explanation : In the above example, the correct
answer is ‘Chair’ and this answer has been
suggested at ‘D’. Accordingly, the answer is fo be
indicated by blackening the circle by Black/Blue
Ball-Point Pen in column ‘D’ against Question No.
‘Q’ in the manner indicated below :

Question No. ‘Q’
[A] [B] [C] [e]

- | . There is only one correct answer to each question.
You should blacken the circle of the

appropriate
olumn, viz., A, B, C or D. If you blacken more than

one circle against any one question, the answer will
 be treated as wrong. Any change / correction in the
: ﬁsﬂonses'or use of correcting fluid is prohibited.

You m NOT required to mark your answers in this

MANNER IN WHICH ANSWERS ARE
3R 2 6 R_iY

TO BE GIVEN

%&qr;q@muﬁaammyﬁgtma:mw
S HuAT [{& HUF AT T ¥ UCAF & H 3w
frelt U @Y AT & T UA BT FE I L UG Fag
ﬁwﬁmmmﬂﬁaﬂﬁmm
@2 A B Car D& s/ afa-uizee 49 & @
AT B

A Ru v sEERwT ¥ FOE A S R s few
yer U s

IGTERTT :

oz g A
mm@QOﬁmwﬁﬁ-qﬁﬁ%m
TE o @ EA @ ¥ g Hewr fRE @ o
Famn:

(A e
(B w=a
(G afRer
(D ouf

TOHETOT : SUT & 30T H TE 3a7 FEr & AR @@
D' # gHARr A & NS UH H R d wEd
HeH ‘D' & AR Wl B dra/Ad didd- Oigee oF
¥ giaa wem & 3o I aas R & 3EEr
fear S &
uH H. WY
[A] [B] (C] (o]
TS G A T & W S E s e
W%Iaﬁmﬁmﬁuga;mw#m
TAFR T F 9N A HGwr S AST =T S
suarr afda &
0 IRTE & IR 3w 3R it w8 @ E
R Fa s A & &)

et

CamScanner
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